427=2010

CERTIFIED COPY OF ORDER

STATE OF MISSOURI	Adjourned Term	. 20 10
County of Boone		
In the County Commission of said county, o	day of September 2	o 10
the following, among other proceedings, we		

Now on this day the County Commission of the County of Boone does hereby authorize Commissioner Ken Pearson to sign Change Order #1 in the amount of \$18,630.10 for the Boone County Jail Parking Lot project with Stockman Construction Corporation.

Done this 2nd day of September, 2010.

ATTEST: udy S. Novenko

Wendy S. Noren Clerk of the County Commission

Kenneth M. Pearson Presiding Commissioner

01.

Karen M. Miller District I Commissioner

Skip Elkin District II Commissioner

427-2010

BOONE COUNTY DEPARTMENT OF PUBLIC WORKS DESIGN AND CONSTRUCTION DIVISION

Change Order No.: One (1) P.O. 2009000256

Job No.: 9871

Date: 8-30-10

Project Location: Boone County Jail Parking Lot

CHANGE ORDER #1

Contractor: Stockman Construction Corp.

It is hereby mutually agreed that when this change order has been signed by the contracting parties, the following described changes in the work required by the contract shall be executed by the contractor without changing the terms of the contract except as herein stipulated and agreed.

Description of Changes: See attached sheet (Exhibit A)

CONTRACTORS PROPOSAL FOR THE ABOVE DESCRIBED CHANGES:

I/We hereby agree to the modifications of the contract as described above and agree to furnish all material and labor and perform all work in connection therewith in accordance with the requirements for similar work in existing contract except as otherwise stipulated herein, for the following considerations:

Add to the Contract Amount a total of

Essateen Thousand Six Hundred Thirty dollars and 10/100 (\$18,630.10)

EP POINT CONTRACTOR - Stockman Construction Corp.

DATE 9-1-2010

Recommended by: Boone County Facilities Maintenance

SIGNATURE

Contract Amount:

૬ઈ

DATE 9-2-12

Accepted by: Boone County SIGNATURE

DATE 0102/2010

STATEMENT OF CONTRACT AMOUNT:

	ORIGINAL CONTRACT AMOUNT	\$	324,164.10
	PREVIOUS ADDITIONS	\$	0.00
	TOTAL	\$	324,164.10
	PREVIOUS DEDUCTIONS	\$	0.00
	NET PRIOR TO THIS CHANGE	\$	324,164.10
	AMOUNT OF THIS CHANGE <u>X</u> ADD DEDUCT	\$	18,630.10
	CONTRACT AMOUNT TO DATE CERTIFICATION: I certify that this contract is within purpose of the appropriation to wi	the \$	342,794.20
9/1/2010 9	to be charged and there is an unen- balance of such appropriation suff	cumbered icient ontract. <u>110</u> 620	10 - 92700

SEP 1 2010	Design and County	onstruction	Alf
Change Order #1	P.O.: 2009000256	Project #: 98	71 Date: 8/30/10
Project: Boone County Jail Parking Lot			
Contractor: Stockman Construction Corp.		Address:	2021 Idlewood Rd. Jefferson City, MO 65109

ana County Dublic Morks

Description of Changes:

1. This change is proposed due to the existing condition of the asphalt directly adjacent to Boone County Dr. connection. Because of the poor condition of the asphalt in question it is impossible to make a clean connection at this point. By moving connection point 24' to the east the connection will be made in an area that is more conducive to making a clean joint.

2. This change is due direct request from the Sheriff. Because the existing concrete to the west of the vacuum will be used as a entrance to the new annex he has requested that concrete be installed on the east side of the vacuum.

3. This increase occurred due to items 1 and 2 and the need to compensate the contractor for the removal of the additional proposed area.

4. This increase occurred due to items 1 and 2 and the need to compensate the contractor for the grading and restoration of the additional proposed area.

5. This deduction has occurred because of the acceptance of alternate bid for the Rain Gardens.

6. This deduction has occurred because of the acceptance of alternate bid for the Rain Gardens.

7. This deduction has occurred because of the acceptance of alternate bid for the Rain Gardens.

8. This deduction has occurred because of the acceptance of alternate bid for the Rain Gardens.

9. This deduction has occurred because of the acceptance of alternate bid for the Rain Gardens.

10. This deduction has occurred because of the acceptance of alternate bid for the Rain Gardens.

11. This deduction has occurred because of the acceptance of alternate bid for the Rain Gardens.

12. This deduction has occurred because of the acceptance of alternate bid for the Rain Gardens.

13. This deduction has occurred because of the acceptance of alternate bid for the Rain Gardens.

14. This deduction occurred because this item has been deemed no longer necessary.

15. This deduction occurred because this item has been deemed no longer necessary.

16. This increase occurred because the bid package did not make it undoubtly clear that by accepting the alternate bid all items associated with the subsurface drain would be eliminated. Because of this the 8" perforated pipe was produced. Because the 8" perforated pipe is a special order item it is non returnable. The County will purchase the 8" perforated pipe and take possession of it.

17. This addition is a result of desired changes requested by the Boone County Sheriff. The new item was created and estimated in order to best facilitate the requested change,

18. This addition is a result of desired changes requested by the Boone County Sheriff. The new item was created and estimated in order to best facilitate the requested change,

19. This addition is a result of desired changes requested by the Boone County Sheriff. The new item was created and

estimated in order to best facilitate the requested change,

20. This addition is a result of desired changes requested by the Boone County Sheriff. The new item was created and estimated in order to best facilitate the requested change,

21. This addition is a result of desired changes requested by the Boone County Sheriff. The new item was created and estimated in order to best facilitate the requested change,

22. This addition is a result of desired changes requested by the Boone County Sheriff. The new item was created	ated and
22. This addition is a result of desired changes requested by the Boone County Sheriff. The new item was creat estimated in order to best facilitate the requested change,	
estimated involuer to best required to increduce to a sharinge,	

SEP 1 2010	CONTRACT	UNITS TO	OVERRUN,	CONTRACT	
	AMOUNT	BE CONSTRUCTED	UNDERRUN, CONTINGENT	OR AGREED	OF CHANGE
7" PCCP Pavement - High Early Strength ECORE COUNTY PUBLIC WORKS	3040	3109	69	39.50	\$2,725.50
5" PCCP Pavement	1690	1754	64	30.00	\$1,920.00
Removals	0	1	1	800.00	\$800.00
Earthwork	0	1	1	1,280.00	\$1,280.00
8" Perforated PVC Pipe	762	0	-762	\$13.00	(\$9,906.00)
8" PVC Elbow - 45d	17	0	-17	\$55.00	(\$935.00)
8" PVC Tee	1	0	-1	\$55.00	(\$55.00)
PVC Cleanout	8	0	-8	\$260.00	(\$2,080.00)
Geotextile Fabric	762	0	-762	\$2.20	(\$1,676.40)
8" HDPE Pipe	289	0	-289	\$14.00	(\$4,046.00)
10" CMP	30	0	-30	\$35.00	(\$1,050.00)
Rock - 1" Clean	84	0	-84	\$55.00	(\$4,620.00)
Rock - Macadam	84	0	-84	\$97.00	(\$8,148.00)
3/4" K Copper Water Line	137	0	-137	\$12.00	(\$1,644.00)
Yard Hydrant	1	0	-1	\$325.00	(\$325.00)
8" Perforated PVC Pipe	0	1	1	\$2,435.00	\$2,435.00
Pinned Full Depth 6" Curb	0	730	730	\$28.00	\$20,440.00
Concrete Ditch	0	260	260	\$59.00	\$15,340.00
6' x 8' x 1' Rock Blanket (6" x 12" Rock)	0	2	2	\$400.00	\$800.00
Inlet (Connect to Existing 8" Downspout Drain)	0	1 .	1	\$875.00	\$875.00
Earthwork	0	1	1	\$4,500.00	\$4,500.00
Surface Restoration	0	1	1	\$2,000.00	\$2,000.00

ORIGINAL CONTRACT AMOUNT TOTAL OF PREVIOUS CHANGES TOTAL THIS CHANGE ORDER FINAL CONTRACT TOTAL TOTAL THIS CHANGE ORDER: \$18,630.10

A14

\$0.00 \$18,630.10 \$342,794.20

\$324,164.10

CERTIFIED COPY OF ORDER . September Session of the July Adjourned 10 STATE OF MISSOURI Term. 20 ea. **County of Boone** 2^{nd} September 10 In the County Commission of said county, on the day of 20

the following, among other proceedings, were had, viz:

Now on this day the County Commission of the County of Boone does hereby approve the appointment of Bill Oswald to the Building Code Commission effective 9/2/2010 and ending 4/30/2012.

Done this 2nd day of September, 2010.

TTEST: Wendy S. Noren

Clerk of the County Commission

Kenneth M. Pearson Presiding Commissioner

8 -2010

Karen M. Miller District I Commissioner

Skip Elkin District II Commissioner

Ken Pearson, Presiding Commissioner



Boone County Government Center 801 E. Walnut, Room 245 Columbia, MO 65201 573-886-4305 • FAX 573-886-4311 E-mail: commission@boonecountymo.org

expires 4/30/2012 Boone County Commissioner E-mail: commissioner expires 4/30/2012 Boone County Commission Interim

BOONE COUNTY BOARD OR COMMISSION **APPLICATION FORM**

Board or Commission: Building Code Comm	Term:	7/30/2010		
Current Township: Rocky Fork		_ Todays's Date:	7/30/2010	
Name: Bill Oswald				
Home Address: 16654 N. Crownview Dr		Zip Code:	65240	
Business Address: 700 Cherry Street		Zip Code:	65201	1
Home Phone: 573-696-0006 Work Phone: 443-14 Fax: 875-2508 E-mail: oswald@				
Qualifications: <u>Lam a Registered Architect with c</u> building codes			. with	
Past Community Service: <u>N/A</u>				
References: Upon Request				

I have no objections to the information in this application being made public. To the best of my knowledge at this time I can serve a full term if appointed. I do hereby certify that the above information is true and accurate.

Applicant Signature

Return Application To: Boone County Commission Office **Boone County Government Center** 801 East Walnut, Room 245 Columbia, MO 65201 Fax: 573-886-4311